POWER
BELT

SFU / SFNU TiPUS
SFU /SFNU TYPE

85 a W 5] W Q Oil Hole
22.5 8-X thr. ’ i ¢
6-X thr. 6 g : —

(kszam ; d 1 Dba D A B L W X H Q n G Coa K
ode Tipus
el () W |

81.002.008 - U044 12 4 25 24 40 10 40 32 45 30 - d 9020 1840 260
81002014 - SFU01604-4 4 2381 8 48 10 40 38 55 40 M T 9730 24060 320
81002015 81074015 SFUOT6054* 5 3175 28 48 10 S0 38 55 40 Ms T 13800 300 320
81.077.015 : SINUOT6S4 16 5 3175 28 48 10 45 38 55 40 M6 Tk 13800 3050 320
81002016 81074016 SFUOT603* 10 375 28 48 10 57 38 55 40 Me 13 1100 20010 260
81.077.016 : SFNUOT610-3 10 3175 28 48 10 57 3% 55 40 Me D3 100 24010 260
£1.002019 : SFU02004-4 42381 36 58 10 4 4 66 44 M6 Dd 10660 29870 380

81.002.020 81.074.020 SFU02005-4 * 20 5 3175 36 58 10 51 47 66 4  Me x4 15510 38750 390

81.077.020 - SFNU02005-4 5 3175 36 58 10 51 47 66 4 Me x4 15510 38750 390
81.002.025 = SFU02504-4 4 2381 40 62 10 4 51 6.6 48 M6 1x4 11800 37950 430
81.002.026 81.074.026 SFU02505-4 * 5 3175 4 62 10 51 51 6.6 48 M6 Ix4 17240 49040 450
81.077.026 = SFNU02505-4 5 315 40 62 10 51 51 66 48 M6 x4 17240 49040 450
81.002.027 - SFU02506-4 # 25 6 3969 40 62 10 54 51 66 48 M6 x4 23180 60570 470
81.002.028 = SFU02508-4 # 8 4762 40 62 10 63 51 66 48 M6 x4 29630 73130 490
81.002.029 81.074.029 SFU02510-4* 10 4762 40 62 12 80 51 6.6 48 M6 x4 29540 72950 500
81.077.029 = SFNU02510-4 10 4762 40 62 12 80 51 6.6 48 M6 x4 29540 72950 500
81.002.031 - SFU03204-4 4 2381 50 80 12 44 65 9 62 M6 x4 12960 48380 510
81.002.032 81.074.032 SFU03205-4 * 5 3175 50 80 12 52 65 9 62 M6 Ix4 19220 63430 540
81.077.032 - SFNU03205-4 5 3175 50 80 12 52 65 9 62 M6  1x4 19220 63430 540
81.002.033 = SFU03206-4 # 32 6 3969 50 80 12 57 65 9 62 M6 1x4 26320 79790 570
81.002.034 - SFU03208-4 # 8 4762 50 80 12 65 65 9 62 M6  1x4 33870 96220 600
81.002.035 81.074.035 SFU03210-4* 10 635 50 80 12 90 65 9 62 M6 1x4 48050 122080 610
84.077.035 - SFNU03210-4 10 635 50 80 12 85 65 9 62 M6 x4 48050 122080 610
81.002.038 81.074.038 SFU04005-4 5 3175 63 93 14 55 78 9 70 M8 1x4 21100 79880 630
81.002.039 - SFU04006-4 # 6 3969 63 93 14 60 78 9 70 Me x4 28730 99130 660
81.002.040 = SFU04008-4 # 40 8 4762 63 93 14 67 78 9 70 M8 x4 37120 119470 700
81.002.041 81.074.041 SFU04010-4 * 10 635 63 93 14 88 78 9 70 M8 x4 53990 155000 730
81.077.041 = SFNU04010-4 10 635 63 93 14 88 78 9 70 M8 x4 53990 155000 730
81.002.045 81.074.045 SFU05010-4 * 0 63 75 110 16 93 93 n 85 M8  1x4 60040 196140 850
81.077.045 = SFNU05010-4 50 0 63 75 10 16 88 93 n 8 M8 x4 60040 196140 850
81.002.047 - SFU05020-4 # 20 7744 75 110 16 138 93 n 8 M8 x4 71420 225880 940

www.powerbelt.hu @ rBIMOTION:



TBI MOTION GOLYOSORSO ES ANYA
TBI MOTION BALL SCREW AND NUT

(klsaam ; d 1 Dpa D A B L W X H Q n G Coa K

ode Tipus

i Balos L= (mm) ) (N/pm)
81002040  BLO40H9  SFUOG3I04* 0 635 % 15 18 9% 108 11 %5 M8 Id 679 253560 990
84.077.049 - SFNU06310-4 63 10 635 90 125 18 93 108 n 95 M8 x4 67190 253580 990
£1.002.051 : SFU06320-4 0 955 95 135 20 M9 115 135 100 M8 Txd 114440 36630 1120
81.002.052 81.074.052 SFU08010-4 * 10 635 105 145 20 98 125 135 110 M8 x4 73460 319530 109

84.077.052 : SINUSOTO-4 80 10 635 105 15 20 93 125 135 110 M8 Ixé 7360 319530 109

81.002.053 - SFU08020-4 20 9525 125 165 25 154 145 135 130 M8 x4 129110 477470 1380
£1.002.054 ; SFUI0204% 100 20 9525 150 22 30 180 170 175 155 M8 xé 143030 606980 1620

A termékek gyartdja / Producer of the items: @m TBIMOTION® WW\W. p owe rb e [t . h u I 5 3



